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1. WTSISUS ST [/ Ig 3med.

) e RRERE A AT 2017 T 0.
) 2021-22 AR AYUAR & AT TTH SFTOEIST AMOT AT 2.0 =T 9HT TS

ITE.

TIRT I

1) ®th 3T 2) B §

3) 3T foT 4) 1 AT T I

Which of the following statement/s are correct.

a) Natianal creche scheme started in year 2017.

b) In 2021-22 Budget it will incorporate as part of Saksham Anganwadi and Poshan 2.0.
Answer Options :

1) Only a 2) Only b

3) aand b 4) a and b are wrong.

2. WIS BT UM I SR,
37) MRP Tegcii™ STS8T0T ST Seardl AT qe TEHRI FTYFTLT SPTOMT 5 TRAGANS
3THRT |9 =R ddTa.
) URP Tegdll™ TGETT AT hgdrdl AT ITHRT S [arrd 9dTd.
TR ITR:
1) % T 2) FH T
3) 3T UT 4) 3 AT § I

Which of the following statement/s is/are correct?

a) The MRP method takes into account the household's monthly and annual consumption
expenditure on 5 items that occur occasionally during the survey.

b) The URP method takes into account the monthly consumption expenditure of the
household while conducting the survey.

Answer Options:

1) Only a 2) Only b

3) aand b 4) a and b are wrong
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3. Ogoes AWM Il TadigaR 2011-12 T SIRGERT,

37) U7 9YIIETST - 916 ) 2TEA 9IIETSr - 1000
) AT YRS 816 3) e RIS - 950
T 3T

1) 37 3O & 2) & 0T &

3) & AT 4) F MOT T

According to the methodology suggested by the Tendulkar Committee, the poverty line in
2011-12,

a) For rural areas - 916 b) For urban areas - 1000
c) For rural areas- 816 d) For urban areas - 950
Answer Options:

1) aand b 2) b and c

3) cand d 4) a and d

4. TSI AT & BT HUT T HoaTd ATAT?

1) 15t August 1996 2) 15t August 1998
3) 15t August 1995 4) 15t August 1997
When was National Social Assistance Programme was launched?

1) 15t August 1996 2) 15t August 1998
3) 15t August 1995 4) 15t August 1997

5. TRISH AW (2014) THAR 2011-12 i ArHior Snfor sred venrer aiRsaRs=i qraet
WS .
1) 32 TIOT 47 2) 32 31O 67
3) 47 30T 32 4) 47 STIOT 42

As per Rangarajan Committee (2014) defined poverty line for 2011-12 for rural and urban
areas per capita is Rs.

1) 32 and 47 2) 32 and 67

3) 47 and 32 4) 47 and 42

6. AT 3TN WY hohedT Task force on Elimination of the Poverty in India 9T EARIEC )

T HIT Ea?
1) T AT 3remeT 2) SAT AR SuTeHeT
3) ST AR |fd 4) AT AT W ho@T Ah)

Who was the head of the task force on Elimination of the Poverty in India established by
NITI Aayog?
1) Chairman of NITI Aayog 2) Vice Chairman of NITI Aayog

3) Secretary, NITI Aayog 4) A person appointed by NITI Aayog

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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7. el e o fafeer v e Sfear graw @rdiaudt Sl e

1) STATERATS g% 2) HETHT Iy

3) gAY ENIR 4) TETITE RIS

Who among the following authored ‘Poverty and Un-British Rule in India’?
1) Jawaharlal Nehru 2) Mahatma Gandhi

3) Rabindranath Tagore 4) Dadabhai Naoroji

8.  2011-12 FHI® NG dgHhe Tegd O GIAHISTHTOT B,
3) THUT IRSA- 21.9%
) UTHIOT SRS - 25.7%

) FET ARG - 13.7%
TIGURT I I T2
1) 3T, & 30T & 2) T AT &
3) Uehal Tal 4) T O &%

Poverty in 2011-12 as per Tendulkar method was as follows.
a) Total poverty- 21.9%

b) Rural Poverty - 25.7%

¢) Urban poverty - 13.7 %

Which of the above is wrong?

1) a, b and ¢ 2) a and b
3) None of the above 4) b and ¢

9. WSIGUR HIUTAT TegdH JISHMR T SRISPIRT AT X & HAfthied 3 TFdTd?
1) AIATIROT =T R 2) FTATIRYT R
3) TAHT HTHIRS RAdr 4) 999 <

Which of the following methods of measuring employment and unemployment rates are

person-day rates?
1) Usual Principal Status 2) Usual Status
3) Current Weekly Status 4) Current Daily Status

10. V<8 SRISPIRT BUTST JTUROTIor
1) HISIT I Hih SRISPIR BT, 2) TG JASPIR IUSST TN,
3) AT fohReples IeaTaahdT I 3T, 4) FTTRIET 3ATSHAT HHI 3.
Disguised unemployment generally means
1) Large number of people remain unemployed
2) Alternative employment is not available
3) Marginal productivity of labour is zero
4) Productivity of workers is low
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11. SHeATs AT AT HHUT = HI0ATd TA?

1) 2013 2) 2014
3) 2015 4) 2016
When was Deen Dayal Antyodaya Yojana launched?

1) 2013 2) 2014
3) 2015 4) 2016

12. BRI AhAVTAT AT T Wloldehl hioTd 2T AT
1) 3° A AT 3T IR
2) IR AT JIROT
3) BIEEASET SR HIT SR TGS 3TRA0
4) AT AR AR FTS T
Which of the following is not a characteristic of the second phase of population transition?
1) High birth rate and high death rate

2) Improvement of medical facilities
3) A large proportion of the population is below the poverty line

4) More dependence on agriculture sector

13. SiegT @Al ATl Tl AArhsl Alg ST Aehid SiTdl SO ATERH SIX Al Hiel Hlb
SRISTR 3. T Al HIOTAT YRR SRS e 3ATe?
IR RSHIR 2) TSI SRISTITRT
3) ARAATHSD SRISHIR 4) IYT SRISPTRT

When a person shifts from one job to another job, and in between if he may be unemployed

for some time. Then he is suffering from which type of unemployment?
1) Seasonal unemployment 2) Cyclical unemployment

3) Structural unemployment 4) Frictional unemployment

14. THHAT DI3(G T AT (PMKVY) HHT = Hoard e

1) 2014 2) 2015
3) 2016 4) 2017
When was Pradhan Mantri Kaushal Vikas Yojana (PMKVY) launched?
1) 2014 2) 2015
3) 2016 4) 2017
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15. YRATIS 3T ST WA ShivTd S HHIsih gcsh SIOEeR 3ad?

3 IRET ) FHUTAT dobl HHT FTHUMR 9T
ENEGIERCIER B) YT STOT ATHISTh FTRaT
T 3T

1) 3 o 2) ¥ 3nfor %

3) 3T AT 4) T AMT S

Which two of the following social factors are responsible for India's high birth rate?
a) Poverty b) Lower age at the time of marriage
¢) Predominance of agriculture d) Religious and social superstitions

Answer Options:

1)aand b 2) b and c
3)aand d 4) b and d
16. I 1991 A& fqahT= U, Y. SH. Ui qT ATISAT T AT FTHA AT,
1) O, @I RRE 9 2) WOTT ST
3) Sf. JAET & 4) 91, ==
The LPG model of development was introduced in 1991 by then Finance minister
1) P. V. Narasimha Rao 2) Pranab Mukherjee
3) Dr. Manmohan Singh 4) P. Chidambaram

17. SRTAT Y9N Fisi-d, FIaqT2IhdT S3IIOTRT, FIsTdT J0ITaRE! Hiel $8d IS hoil

3n) anfdes a1 ) @i M snfor sRiswmer
%) T2retor anfor TR <) YATGROT AT 3w dar

PR IPIIREE

1) & 30T © 2) & 0T &

3) 3T, § MO & 4) 3, F, H AOT €

In the Twelfth Five Year Plan, a number of measurable targets were included to indicate
inclusiveness, namely:

a) Economic growth b) Alleviation of poverty and unemployment
¢) Education and Health d) Environment and Sustainability
Answer Options:

1) cand d 2) b and c

3)a, band c 4)a, b, cd
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18.  ATAAT YIS AlST=oAT AEOeT Jobf AT -, IaAHTaR ¥R SoT.
1) 9. U9, gehlics AMOT UT. UF. SBH 2) S [HeR
3) U1, . FEroied 4) U, U, SIS SATMOT . S9Tadr
emphasised on the wage goods model at the time of formation of Seventh Five
Year Plan.
1) C. N. Vakil and P. R. Brahmananda 2) John Miller
3) P. C. Mahalanobis 4) P. R. Brahmananda and ]. Bhagwati

19. WSS STredT S[edT:

e ArSTT T 3D

3N ASAT FisT (i) FHT 3TOT ST AT

) HEET AT (ii) =TReT e nfoT @maoeT

&) I ST N EIEEIREEIR]

BIRIEEIRISE (iv) SRS MG STOT JISPTRE AT
A @) b)) 9

i i i v

2) i v i i

3 iv i i i

4 i i v i

Match the following pairs:

Five Year Plan Main Objectives

a) Eighth Plan (i) Agriculture and Heavy Industry

b) Sixth Plan (ii) Poverty Alleviation and Self Reliance

¢) Second Plan (iii) Human Development

d) Fifth Plan (iv) Poverty alleviation and employment generation

a b o d
D i ii iii v
2) i iv i ii
3) iv il i i

4) i iii v ii
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20. RIFTOT @die duaye qis-d JareE T 2og7d 37

1) 9fesst duanfien arsrT 2) TR YuE e TS
RIEEIREEINERRISEL 4) IRTET oINS FSTT
Irrigation was given top priority in the following Five Year Plan:

1) First Five Year Plan 2) Second Five Year Plan
3) Fifth Five Year Plan 4) Twelfth Five Year Plan

21. dfgcdr A9 doaN® e goaTdaNTd Jaid Hedrd w 3RE & g
1) FATSTETET FHTSREAT 9107 ot 2) e favHar i ==
3) fovrie I8 4) TR

What was the most important economic objective of the first three Five Year Plans from

the beginning?
1) Creating a socialist social structure 2) Reducing economic inequality

3) Departmental balance 4) Industrialization

22. I 2011 AT THOHAR TERTE &% IR @ HIeR §ATd JIEUMT Siehie THTT (d-TdT)

I

1) 385 2) 365

3) 382 4) 372

According to the 2011 census, the population density in Maharashtra per square kilometer
area is

1) 385 2) 365

3) 382 4) 372

23. RN STFOTOMET STEATS 2011 THAR 2001-2011 BT HISTT SHIhIeAT dTerar aiiyeh SRRl a3
HTT BT
1) 1.93 2) 1.64
3) 2.11 4) 0.64
According to the Indian Census Report 2011, what was the annual average rate of population
growth during the period 2001-2011?
1) 1.93 2) 1.64
3) 2.11 4) 0.64

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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24. T 2011 T HIERAT SHSHTT TSI ST gedT HHTH HigolT .
37) feurares wear
o) HelRTY

EDRERRY
TIRT 3N

1) 31, &, <h 2) %h, &, 37

3) |, &, 3T 4)h, A, T

Arrange the following states in descending order of literacy rate in 2011.
a) Himachal Pradesh

b) Maharashtra

¢) Tripura

Answer Options:

Dab,c 2) ¢, b, a

3) b, c a 4)c a, b

25. 2011 AT SFOVHIER AERIEAIG Algedl ATeRdl & 3MTe.

1) 64.13% 2) 75.5%

3) 80.90% 4) 67%

According to the 2011 census, the female literacy rate in Maharashtra is
1) 64.13% 2) 75.5%

3) 80.90% 4) 67%

26. TRRIET IFAH (1991) FT Thias w3 TS e,

1) SLR 2) CRR

3) AT & 4) Red vat ==
Narasinhan Committee (1991) called as ‘tax on banks’.

1) SLR 2) CRR

3) Repo rate 4) Reverse repo rate

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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27. T a9 erd =1 Snfor A gar .
3) WU SATHT oA YOTT=AT SATST QT Feehld YoIqul HuTd HrEl 32l RIeRT
RRAET FHAM (1997) Heir gl
) IR TR UTITT ¢ ol [AaAR0Td Hed 40% 3.
&) UTef2Te UTHOT SHIATST UTI=T &35 hol [9a=ve 389 75% 3R,
1) %th & TN 3R, 2) Th 3T 3TOT & I 3R,
3) Theh 3T I TR, 4) 99 [T I 3.
Consider the following sentences and choose the correct option.
a) Narasinhan Committee (1997) suggested that interest subsidies given on priority sector
lending should be completely reduced.
b) Priority sector lending target for foreign banks is 40%.
c) Priority sector lending target for regional rural bank is 75%.
1) Only b is correct 2) Only a and c are correct
3) Only a is correct 4) All statements are correct.

28. 3T gAY fRaer.

1) T S AT AR - 1960 2) YRAMT &< Sl IJTIT - 1955

3) i TSTHIHRUT - 1980 4) ITRT EHT FHIEIET - 1948

Choose incorrect pair.

1) Formation of state bank group -1960 2) Establishment of State bank of India — 1955
3) Nationalization of banks — 1980 4) Banking Regulation Act — 1948

29. 1969 T R doh YRATT IMTARIT Sohi<aT 3MET [SRdRTT HAhHTATST HivTal HArHar
ITIT FHROATT 3T Bl ?
1) S, 3R, M AT 2) T, TF. ARTT |AfHdr
3) BT AT 4) dRTAR FHal.

Which committee was established by reserve bank for branch expansion of Indian public
sector banks ?

1) D. R. Gadgil Committee 2) F. S. Nariman Committee

3) Hazari Committee 4) Tarapore Committee

30. T3 9T ST9d Wiele qaraier [aR w& a9 gy e,
1) ATRSAT AT T ATLAT HeAToT 2) TGS ARG T HeAToT
3) STGHIe HRGTOT T HedToT 4) TSN TIETOT F FHATT
Consider the following sentences and find correct about Mission VATSALYA.
1) Scheme related to Women Protation and Welfare
2) Scheme related to Elderly Protation and Welfare
3) Schemes related to Child Protation and Welfare

4) Schemes related to Divyang Protation and Welfare

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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31. REI= 9% SEET 1934 &7 AT GO ST Sahidl A6 ATerd, T SR RISl
3T TEUTAT. T ShiaTad s foa faer.
1) ReT Jhehge st UTH HROATT U7 31T
2) CRR eI Iehehe 3TET SFTT ATEr.
3) Rerd e R giord=m wraer Mesd ATer.
4) 9 U I 3R,

Those banks which are not named under second schedule of Reserve bank Act 1934, are

called as non scheduled banks. Choose incorrect sentence about such banks.
1) These banks are qualified to get loans from reserve banks.

2) They need not to keep CRR with reserve bank.

3) They do not get advantage of settlement system of reserve bank.

4) All statements are correct.

32. o G STdMT $3 e IR gdey Siard 2

3N ek TRRT @9 ) ST ST

%) BIATSUT Wo ¥) W T T '@
)3T, 9, & )T, H, S

3) 3, h, S 4) A, 9, h, §

Which factors are considered while deciding Base rate ?

a) Average cost of funds b) Tenor premium

¢) Operating expenses d) Cost of CRR.

1) a, b, c 2) b, c, d

3 a,cd 4)a, b, cd

33, Jiosl ST ATHIRAT TS T ?

1) TSI=IT Teega=eT 2) HerT sTdqaRen
3) AT ST oIl AT ST Hal reqaes 4) I ATEL
What is mean by Goldilocks economy ?

1) Bull economy 2) Bear economy

3) Not too hot not too cold economy 4) None of these.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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34, Wolo UM ST ST 0T =T 99T [Hder.
37) 1S9 FRBM &HTIeT 0T FhAleeh & Ules T g,
) I(ST FRBM SHEE] HRUIN HERTY & Hald AT 2.
1) %h ¥ I e, 2) th 3 INT IR,
3) Uehgl ATar. 4) <81 I 3R,

Consider the following sentences and choose the incorrect option.

a) Karnataka was the first state to bring state FRBM act.

b) Maharashtra was the sixth state to bring state FRBM act.

1) Only b is correct 2) Only a is correct
3) None 4) Both are correct.

35. TN qAT aEr.
1) 1991 T 3TVTET hr=T T 84% BIdT.
2) 1991 HaR UET HX : THUT 2 IOUIR FHAI 2T 3TE.
3) FX HEYS : GDP VTR {RATd Tdd decies .
4) 99 I°T 3e4.
Choose the incorrect option.
1) In 1991, share of indirect tax was 84%.
2) After 1991, the ratio indirect tax : total tax is reduced.
3) The ratio of Tax revenue : GDP ratio is increased continuously in India.
4) All are correct.

36. Wolo UM ST =T 0T Ig a4~ Maer.
3N Y ST Fhe T & Sleed AT TS,

) FR e AT AT BH g

&) SATAT YT @9 Bldl ArEaR Y ST P gl

T) & FdHY THET FIET AR,

1) 3, d, & 2) T, H, T
3) A, o, &, S 4) 3, <h, S

Consider the following sentences and choose the correct sentence/s.
a) The concept of Incidence of Tax is introduced by Dalton.

b) Incidence of tax is applied at last stage.

¢) It is applied on one who spend money.

d) It is ultimate money burden.

1) a, b, c 2) b, c, d

3 a, b, cd 4)a,c d
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37.  3fed REY IiHT HR FTHROME 4 T JATIA. ATIR T3 IT 3R ?
3N JHAE T
) PEAT dF

%) FEHIART I

T) HEHAY T
1) 3, ¥, % )T, H, T
3) 3,9, H, T 4) A, F, S

Adam Smith suggested 4 canons of tax. Which the following is correct ?
a) Canon of equity

b) Canon of convenience

¢) Canon of economy

d) Canon of efficiency

1) a, b, c 2) b, c, d

3 a b, cd 4) a, c d

38. WSS (U™ e =T for A fur=/4 fHaer.
3N T HR Faradh T,
) AT IR HAh AT,
) T DY EXATARONT ST,
B) AV F EXAARONT 3.
1) 37 30T & 2) T 0T &
3) 3T 30T § 4) 37 O &

Consider the following sentences and choose the correct sentence/s.

a) Direct taxes are flexible.

b) Indirect taxes are flexible.

¢) Direct taxes are transferable.

d) Indirect taxes are transferable.

1) aand b 2) b and c
3)aandd 4) a and ¢
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39. AN SIredT S[edT.

3 T (hA¥) T I (AR

3N 113 NEEIECREEIEIECRIER]

¥ 114 (ii) IH FAISH

F) 115 (iti) T2 3rgE=

9) 116 RUREIEEISERELRED
n HOW

1) i ii iii iv

2) i ii iv iii

3 i iv ii iii

4) i iii iv ii

Match the pair.

‘A’ (Articles) ‘B’ (Provision)

a) 113 (i) Procedure for estimates

b) 114 (i) Supplementary grants

c) 115 (iii) Exceptional grants

d) 116 (iv) Appropriation bills
a) b) ) d)

1) i ii iii iv

2) i ii iv iii

3 i iv ii iii

4 i iii iv ii

40. STSIS AU FeTd @1 o FT furA e
37) wrufie de ASToarT geaTd 99 1992-93 UL ST
) WA e = ASTRNT g - ATST 07
%) UTIHS qe = ISTRNE qe - AT °of
T) WTUHE de = ISThNT de - Mo sy 9o
1) 3T 3O & 2) 3T MfoT &
3) 37 AMOT & 437, T, T
Consider the following sentences and choose the correct sentence/s.

a) Primary deficit was started calculating since 1992-93.

b) Primary deficit = Fiscal deficit — Interest payment

c) Primary deficit = Fiscal deficit — Interest received

d) Primary deficit = Fiscal deficit — Net Interest payment
1) a and b 2) a and ¢
3) aand d 4)a, b, d
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41. 1985 WS, FHocAT AMAM JFYHARIT e TTSl ISTRNA qe Jardo! ?
1) @ T 2) AT, PR
3) TSI AT 4) RRIET
In 1985, which committee suggested fiscal deficit instead of budgetary deficit ?
1) Sukhmoy Chakrabarty 2) C. Rangrajan
3) Raja Chelliah 4) Narasinham
42. YT ST 5] b dl.
I T (HAH) T IE ([RAR)
37) YRUTTHS HYTd (i) 3T APTOfd Ueh SUaTqda SuTd 3]
) Hlcha HUT (ii) SIS APTONT 100 SUATHN HUTA H0]
&) RIS HUTd (iii) 3T APTUNT QT3 AT HITd BRI
A O W)
1 i ii iii
2) i iii ii
3) i i iii
4) iii ii i
Match the pair
‘A’ (Articles) ‘B’ (Provision)
a) Policy cut (i) Demand of grants reduced upto 1 rs.
b) Economy cut (il) Demand of grants reduced by 100 rs.
¢) Token cut (iii) Demand of grants reduced by certain amount
a b o
1 i ii iii
2) i iii ii
3) i i iii
4) iii ii i
43. Rg< d% T Wre RacAavdd 3iEs A7 Aheus AT ATIRIER &th .
1) MO 2) M1
3) M2 4) M3

Currently, Reserve bank expresses estimates related to supply of money based on concept

1) MO 2) M1
3) M2 4) M3
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44. ‘fowga Y9 RS w1 2
1) BlehisTdoolcy U-T + Shihslch G ATST + ThisTacdlc Jad odl.
2) ArhisTdesley 0T + RET Iehelles Iehi=AT AT + Jehisidesics gad adl.
3) BIhISTdosch UMl + ReTL Tohdllch A% IdT + AhisTachlcs Had odl.
4) TAAURT TS

What is mean by ‘Broad money’ ?

1) Currency with people + cash reserve with banks + time deposits with banks.
2) Currency with people + banks deposits with RBI + time deposits with banks.
3) Currency with people + other deposits with RBI + time deposits with banks.
4) All of these.

45. WIAHUH FHoo) U TISRIR B ATal ?

1) FU=IT TR 2) 39 fad=or
REIEAELIGI 4) I ERATIROT

Which of the following is not the contingency function money ?

1) Liquidity of Wealth 2) Distribution of income
3) Option bearer 4) Transfer of value

46. G RgH TEDANAR MTTRIAG HTERIEAT BlehioTacd FTSA T HRUATSIIT U7
ST, HEATEIT HT9AT T, T g Woid. o7 2 ?
1) 3MShe ARG 2) JFeTT
I EIRIERRETIES 4) FT
According to cash balance approach, money with people which is available for expenditure
ia more important rather than transactions of money in economy. Who was promulgator of
this theory ?
1) Alfred Marshall 2) Robertson
3) Irwing Fischer 4) Keynes.

47.  HIIR e fhad Fzis T Focar gehi=r fhadr ToTedT STrdrd ?

3T) TFTR] ) TUT 30T YehrzT
%) FHYS, UTSIATOr ?) W

1) & 3T 2) 3T SAOT §

3) & 3T & 4) oh A

Prices of which factors are considered in core consumer price index ?
a) Food b) fuel and light

¢) cloths, footwear d) house

1) cand d 2) a and b

3) b and c 4) Only a
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48. AN AT SoBaT

‘I e @) T I (FSTAEH BRI

3N 1967-68 (i) ©AT BTG THhIB

) 1974-75 (i) ARA IR Tosk

) 1980-81 (iii) 3TTYF Hhe

) 1991-92 (iv) TR IS dig de.
n N H

1) i ii iii iv

2) i i iii iv

3) i i iv iii

4) i iii iv ii

Match the pair.

‘A’ (Year) ‘B’ (Inflation rate)

a) 1967-68 (i) Drought in kharif season

b) 1974-75 (ii) India-Pakistan war

¢) 1980-81 (iii) Economic crisis

d) 1991-92 (iv) Sharp decline in industrial production
a) b) ) d)

1 i ii iii iv

2) i i iii iv

3) i i iv iii

4) i iii iv ii

49. WSS U™ @erd = anfor @Ry /A Faer
3) TATATE AT TSI IUTT 30T ISTRSIT IUTT & AT TATATS AT AFTONST=T
FHROMIRIS 39T 378,
) IAHaIE AR U 39 § J&Ad: ISdIeroT IRase dRUMEIS U1 378,
1) %eh 3T 2) Bh &

3) 37 anfor 4) THET L

Consider the following sentences and choose the correct sentence/s.

a) If inflation occurs, monetary measures and fiscal measures are mainly the solution for
demand driven inflation.

b) If inflation occurs, direct measures are mainly the solution for supply driven inflation.
1) Only a 2) Only b

3 aand b 4) None of these

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



19 EINER R ECIRIEEIR
50. HWEPMS HE=vd STOTOTATS! ShivTT HTUTET 919 hedl STdT ?

37) AT [SdRoT Sa=yr ) T Foshld HaTd

<h) AT leenld die 9) J-III?{GI') IR dga.

)3, &, % ) d,H, S

3) 3,9, S 4) 7h T INMOT S

Which measures are used to control inflation?

a) Public distribution system b) Reduction in import duties
¢) Rise in import duties d) Changes in monetary policy.
1) a, b, c 2) b, c, d

3 a, b, d d) Only b and d

51.  geroddhl Ay oy fHaer.
) MERIEMIG YR GUH-TAT Ui’ € IR ST Aieieus (SHREd) I8 3SR
IR TR,
) ILI- IRATST THGRT 0T [FaTd Setfaes shg S99,
) MITRA TUTSI- T Efeiee doRIess SoT 378 3.
T) thg TR UITH 07 UTehdl 9IS 15 STHERT 2022 ST el gl
T 3
)3T, 2) 3, 9, h
)T, H, S 4) TISUDT T4,
Choose the correct statements from the following.
a) The first Textile Industry Park 'PM-Mitra' will be set up at Nandgaonpeth (Amravati) in
Maharashtra.
b) Objective- To make India a global hub for textile industry and exports.
c¢) MITRA means- Mega Integrated Textile Regions and Apparel.

d) PM Mitra Park was announced by the central government on 15 January 2022.
Alternative Answers:

1) a, b 2) a, b, c

3) b, c,d 4) All of the above.

52.  gAUT HfEHROT FISHT (GMS) FHT I FHI0IT 3T ?

1) 1 T 2015 2) 1 919 2016

3) 15 <& 2015 4) 25 F=E 2015
When was the Gold Monetization Scheme (GMS) launched?

1) 1 April 2015 2) 1 March 2016

3) 15 September 2015 4) 25 September 2015
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53. QM SRR GROMHEEHT e fodr Meer.
1) 24 S 1991 T T4 NFIF GIROT JTER FHI0ITT 3T,
2) IRAMT Yo MHGT HROATE6! IRT ITNT IRAMT AT 3a9Td 3o, d% gax 99
STRT IR H7h AT 3T,
3) HYheRIaR 35T ITGUM=AT MRTP SHII&mUasit 2000 A ST hIIer HRogrd TTaT 3NoT
SATEATT AT 0T TS,
4) IRAE IR THTCH IR0l JATUehIT AT S0dTd AT, JAauehiT ST 33d

TTSAT FERA USSIT 1999 T HIT 37T FEMA SH1IaT 3fRcard 31T,

Choose the incorrect statement regarding New Industrial Policy.

1) New Industrial Policy was announced on 24th July 1991.

2) To eliminate the licensing system, only four industries were made compulsory, while all
other industries were exempted.

3) Competition Act was enacted in 2000 instead of MRTP Act which curbed monopoly and
boosted production.

4) Foreign investment in Indian industries was allowed in a phased manner. In 1999, a

milder FEMA Act came into being to replace FERA, which was a hindrance to investment.

54. WTole umET AR &R,
3T) T HRHATHT FHATd 1986-87 AL H0ATd T,
) AT 3EE ARG hiTed [XIT WG s! S99 T ST [hRT 0T 3TTE.

T yIT Maer.
1) ST TNy

2) 37 T

3) T I

4) ST T

Consider the following statements.

a) STEP Programme launch in year 1986-87.

b) Its objective to empower the women with capacity building through provding skil training.
Choose incorrect.

1) Both correct

2) a incorrect

3) b correct

4) Both incorrect
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55. WTO H& Hich Uel (s SioRT) 3TIa & WIolidul Hhalzll Jarad 3T ?

INRBRIGIER:RIE 2) IATEATAIG FATE]

N EIRIGIEEIZRIE 4) 91 HTR

In WTO Blue Box Grants related to which of the following ?

1) Restrictions on exports 2) Limitations in production
3) Restrictions on imports 4) Child labour

56.  37) 9 H 2016 BT HIHHIAT AT Shy IREHRA IRTafed SIS 3w U2 TISHT (APY) =
.
) 18 I 50 Y FANIETAIG JHIed SIS Bih AT U1 3. 60 Y IadR U=
Hoad.
IS [Aidr I Tade a4 st
1) %th 3 2) th &
3) 37, § grer ATar 4) 37, 9 arar
a) On 9 May 2016, the central government launched the ‘Atal Pension Yojana’(APY) for the
unorganised sector from Kolkata.

b) People in the age group of 18 to 50 years from unorganised sector are eligible for the
scheme. After 60 years of age, the beneficiary gets the pension.

Identify the statement/s which is/are not true among the above statements.

1) Only a 2) Only b

3) Neither a nor b. 4) Both a and b

57. Wiole UM =R @
37) ISRIARUT § HRATAIS RO s &y g2,

) WISPITRRT § RS JIROTET A0T g3,

%) SIFTIhIhRIT & HIRATdI® JUROTE! Q3 T2,
TIHURT HIOTAT U TT ATRd?

1) %th & 2) %th A, &
3) hth & 4) WSTR F9

Consider the following statements :

a) Liberalisation shows the ultimate goal of reforms in India.

b) Privatisation shows the path of reforms in India.

¢) Globalisation shows the direction of reforms in India.

Which of the above statements are true?

1) Only c 2) Only a, ¢

3) Only b 4) All of the above
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58. LUISTIAT ATH TGRSR YTST'd Glo[AUehl hlUTHT hl[HADHTHT HHTIRT hd)l Alal?

1) THITHS ATHOT TTRRT HTIHH 2) YR FHToT Sy

3) I HedToT FIST] I REISURIERI

Which of the following program is not included in ‘Swarna Jayanti Gram Swarojgar Yojana’?
1) Integrated Rural Development Programme 2) Bharat Nirman Programme

3) Ganga Kalyan Yojna 4) Million Well Scheme

59.  WGIGUSRl VT IUTT FTERATAIG (BoP) FAHAG R HRUIATATST IUGth ATad ?

3N TST-FhT TROTET TS ) Y HUT HRO]
) AT Fel T) U Had
CRIRIIEGES

1) 3, § 3O & 2) 3, T aNfoT B
3) F, & AfOT 4) Th 37 SMOT &

Which of the following measures are useful in correcting imbalances in the balance of
payment (BoP)?

a) Adoption of a contractionary monetary policy

b) Cost cutting

¢) Increase in imports

d) Foreign aid

Alternative Answers:

1) a, b and ¢ 2) a, b and d

3) b, c and d 4) a and b only

60. HERd HY-T BOGTHATST HioTd My SER 3Med?

31) T3t TR TSI 3O ) 25,000 HIST = &I SR IARSH
) 15,000 = T ST o5 TohHd ¥) 5,000 HIST & YT ST Haes Tl
@) ATARTSI IulRdr

JITET 3N

1) IBUDT AT 2) A, T, H, T

), H, G, S 4) A, 9,8, 3

What are the criteria for becoming a Maharatna company?
a) Having earlier Navratna status

b) Turnover of more than Rs.25,000 crore

¢) Net worth more than Rs.15,000/-

d) Net profit after tax exceeding Rs.5,000 crore

(e) International presence

Alternative answers:

1) All of the above 2)a, b,c,d

3) b, c d,e 4) a, b, d, e
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61.

ThIT S TTAHIRRT AlSTHHeHd (ICDS) 3T f[Fur Maer.

1) STHHIAT TAIOT TTHRARATST 2 SFEIER 1975 ASH ICDS ST - HI0ATT 37T,

2) T St 0 O 5 IY FARTETAIS 9Toheh, IRIEX T &Il J1dT 3.

3) & SPIAI HISAT AISHIUGRT Ush 3R Uehiche df 2TAYd 9= 218707 qRad, @)
RIS FHUUT T IGIAAT AT FEAHMHT AISUAT HiF Hd.

4) T IS 8707 GROT 2020 31T 3 T 6 TY TANTESTAT PTUETEI of SIS 218707
fach ST, o 3ftoarieh RIgTomrear Sgid ATOTodr=T |Ivo HRuarTd ATl 3Te.

Select the incorrect statement regarding Integrated Child Development Services (ICDS).

1) ICDS scheme was launched on 2nd October 1975 for holistic development of children.
2) Beneficiaries of the scheme are children aged 0 to 5 years, pregnant and lactating
mothers.

3) It is one of the largest schemes in the world which provides non-formal pre-school
education on the one hand and works to break the vicious cycle of malnutrition and child
mortality on the other.

4) Under the new National Education Policy 2020, it has been announced that the non-
formal education provided in Anganwadis for the age group of 3 to 6 years will be brought

under the ambit of formal education.

62.

Wole [T 3T [TUT 3T,

1) T 1993 A TIRTSH A Rl hiel dd SeR hol.

2) 1995 A& of. ST, FI. JAAGDT TAT TATEG A TUAT HAETIRITST Teh W,
AT T AGITR Hged I TSIk 5 FR[aaue STIRT = IUTIT H0aTd ST
3) 2001 7 . AR.UL. Ulele IrAT THAGG aF IureT HAEUrs! Fodaos
ATARTHT TARATIAT SH0ATd 3T

4) TR ATET.

Identify the incorrect statement among the following statements.

1) In April 1993, the Rangarajan Committee announced some principles of disinvestment.
2) In 1995 the 'Public Sector Disinvestment Commission' was set up as an independent,
non-statutory and advisory board for a period of three years under the chairmanship of Shri
G. V. Ramakrishna.

3) In 2001 the 'Disinvestment Commission' was reconstituted for a period of two years
under the chairmanship of Dr. R. H. Patil.

4) None of these.
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63. SEZs AT RO Y dvgqrAr 3feeM fo2iy snffes &3 r3er, (SEZs Act, 2005) BT shIer
FAHT HIOITT TSI, BT hIIST HYl HST ST 2

1) 10 TS 2006 2) 10 HSETRT 2006
3) 2 3HTFera 2006 4) 10 9T 2006

The Special Economic Zones Act, (SEZs Act, 2005) was passed with an aim to stabilise the

policy of SEZs. When did this act come into effect?
1) 10 April 2006 2) 10 February 2006
3) 2 October 2006 4) 10 March 2006

64. 3T TTUN STcEET.
37) I Tehed T HIBFRT (Plant and Machinery) HToT FROFTTST AR JOTRY W
TS IR e AU (FDI).
) IR ATUHERIAT TRATT Hu=areaT AT (31377, f3=xT 3.) J[aave e faar
IR TS I (FII) 3T FOTdTd.

I 3T
1) % 2) h &
3) 3, ¥ 2T 4) 3T, § J=al AR

Identify the correct statements.

a) Foreign Direct Investment (FDI) is the investment used to build plants and machinery in
the country.

b) Investment by foreign investors in securities (shares, debentures etc.) of Indian companies
is called Foreign Indirect Investment (FII).

Answer Options:

1) Only a 2) Only b

3) Both a, b 4) Neither a nor b

65. IERIHIOT, WISTITRRUT 0T SAFTIhhROT [T JUROTHAR AT STST SRISHIRIEAT
T hIESIT GugTATST 1991 Fd= WoTGUh! ST MHdT Sl ?
1) UlFeTe difehdT ¥ (EPC) 2) 2@ RgAS He (NRF)
3) WY Uifeee e (EPF) 4) 3T RRIREr SR (SSC)

After 1991, which of the following was created to take care of the unemployment problem

arising after liberalisation, privatisation and globalisation reforms?
1) Exit Policy Commission (EPC) 2) National Renewal Fund (NRF)
3) Employers Provident Fund (EPF) 4) Social Security Corporation (SSC)
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66. T ATHIIT ASHIR EHI HIIHATETIA (NREGP) 9T AHhes T4 ST,
37) TRHRA FERIETAIG ASPIR gHI ASTHSAT Udiar ATTdoslaR TS JTHOT ASHIR gAY
TISTHT = ol I,
) TS ATHOT ISHIR AN HIeT AR, 2005 T ATAAHT STHT.
%) & AT 2 TSR 2006 IRIT BT ST IATE.

T 3N

1) %th & 2) Thth

3) %th ¥, & 4) IR TR

Identify the incorrect statement regarding National Rural Employment Guarantee Programme
(NREGP).

a) Government has launched National Rural Employment Guarantee Scheme at the national
level on the lines of Employment Guarantee Scheme in Maharashtra.

b) National Rural Employment Guarantee Act was enacted in september, 2005.

¢) This scheme has been implemented from 204 October 2006.

Alternative Answers:

1) Only b 2) Only ¢

3) Only b, c 4) None of these

67. 3T FEHIATET Ie3T IHOMAT G20 (Group of Twenty) HHSTHT RUTIAT el ST ?

1) TS 1991 2) TS 1992

3) IR 1999 4) ST 1989

When was the G20 (Group of Twenty) organization established for economic cooperation?
1) April 1991 2) April 1992

3) September 1999 4) September 1989

68. T fTUT STresET,
37) FEMA,1999 (Foreign Exchange Management Act,1999) 1 SI-, 2000 Wﬂw‘l’qﬁﬁw

3.

¥) FEMA 9T I£3T Wehd AR T I& FIER ASGH He- IRATT UGB I&- JTSTRIT
JHARYT (4T gegT 3AT0TT 2 37TR.

I 39N

NG 2) th 3T

3) %h & 4) ITYHRT HIOTdET TRl

Identify the incorrect statement.

a) FEMA, 1999 (Foreign Exchange Management Act,1999) was implemented from 1 June, 2000.
b) The objective of FEMA is to facilitate orderly development of foreign exchange market
in India by facilitating foreign trade and foreign exchange transactions.

Answer Options:

)a, b 2) Only a

3) Only b 4) None of these

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



26 AT Wb IRER

69. TUHAT S9-99 FisEeld ang [ 3@, (PM-]DY)
31) GAVY g HIer I 28 3RS, 2014 ST AT Fis==T TS9O oot
) & AT T B A IHEEE AN I,
&) TITTEAT S-G9 Jis=9 6 3R (6 Pillars) 312,
T) IS WIAYURSHAT 5,000 BYT THd 3MEgMFedl (OD) JraeT IUSST 3.
ERIRIBESESE
1) %th A, S, F 2) Bth S
3) th &, & 4) IAUDT TT

Identify the correct statements regarding PM Jan-Dhan Yojana (PM-]DY).

a) Prime Minister Narendra Modi announced the scheme on August 28, 2014.
b) This scheme is a 'National Financial Inclusion Mission'.

¢) Pradhan Mantri Jan-Dhan Yojana has 6 pillars.

d) Overdraft (od) facility up to Rs.5,000 is available to eligible account holders.
Alternative Answers:

1) Only a, b, c 2) Only d
3) Only b, c 4) All of the above
70. AT 9T M€l

26 H, 1989 ST AT IERTAT HHATT JHATA AT,
2 B9 °% §ax R [qhid HRudrd 3 3Te.
T TIMAIG Fdid A8 ek gie 3Te.

T T ST TR 2

1) STATERATS 8% §eX (RIETRIdT, HERTE)

2) HEAN (ISRIY)

3) T (D)

4) 4IZ (TERTE)

Select the correct option.

The operation of this port started on May 26, 1989.
It has been developed as a high tech port.

It is the largest container port in the country.
Which port is that?

1) Jawaharlal Nehru Port (Nhawasheva, Maharashtra)
2) Kandla (Gujarat)

3) Cochin (Kerala)

4) Mumbai (Maharashtra)
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71. WSS u=ET "9ER SR

37) T2 3hT ATRST TR0 T AZRHIAROT STHIHT TYMH W[RT 3R,
) AN I HISAT JISHT e ATOT FH F=T AHED AT

TISUHT 3@ gTT e,
1) 37 3foT & 2) Hh 3
3) th & 4) 37 39T ¥ IFT

Consider following statements.

a) Mission Shakti is a modern form of women protection and empoverment.
b) It includes two big sub program called Sambal and Samarth.

Which above is not correct.

1) aand b 2) Only a

3) Only b 4) a and b correct

72. FAERAIGTET Gl F IO TR AT Tohdl STiedT S3e 2.
3) A T I IR AT AT - FEfd FeER
) I TR G : AATAT AT - FFER
F) iedol @I : el T YAIVhd HTER
T 3
1) T 2) a9
3) el 4) TR ATEN

How many pairs of BoP accounts and transactions on them are correct?

a) Current account : Import - export transactions of goods

b) Current invisible account : Import-export transactions of services
¢) Capital Account : Loan and Investment Transactions

Answer options :

1) One 2) Two

3) All Three 4) None
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73.  WUHAT HoT AeHags s faar Faer.
1) MUDRA U7 %hiH- ATT%h! g SRGIHC e REAREATT ToT=AT To5.
2) 8 T 2016 S TATITT R ALGT ITAT B & AT & HLoATd AT
3) 3MEE- & IUHATET TR T T GATST IRIST FRUITAT e JTal LTIAT HRoaTd
AT AT,
4) ST ol ATHIOT THT FET ANIAIG 8 T SY STHAT UTH Heeed uaTaTs! & At
T= TS TS e,

Choose the incorrect statement about Pradhan Mantri MUDRA Yojana.

1) MUDRA Full form- Micro Units Development & Refinance Agency Ltd.

2) The scheme was launched on gth April 2016 by Prime Minister Narendra Modi.

3) Objective- Mudra has been established with the objective of developing and refinancing
micro enterprises.

4) Mudra loans are provided to micro and small scale enterprises in rural as well as urban

areas.

74. IS hodIhR IUDIHT ARAT TeTHIRROT AT At Wihies farami=m fa=am &&= 7 9
ERIDRECE)
31 2016 HH® TRA IXHRAUT FAOIRIT FlSTT TR,
) AIEST JEUSTHIAT HETH HRIATHTST THATSHT ATSATAT ATSTEI ot STF Heae SugTe
I,
LEIRII RS

1) o%th A 2) ohth &
3) T T F el 4) F T T LT T

Consider the following statement related to Sumatibai Sukalikar Udyogini women empoverment
scheme and choose correct option below :

a) Its a Flagship scheme of governer of India lounch in 2016.

b) It will provide Finance in subsideize interest rates form to empowr women entruprenuer.
Answer options :

1) Only a 2) Only b

3) a and b both 4) a and b both incorrect.
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75. Wl U faaRId =@
3T) G20 T 7 SHGIHE T IATIT hosl' 3R,
) V SEFIHC SHY AT TMART I TR,
TGS HIvTd TTUT/A SRISR 3TR/3TE?
1) %eh 37 2) %th &
3) 37 SO <t 4) SRIGUT FHIETET TEr

Consider the following statements:

a) New Development Bank has been set up by G20 countries.

b) The headquarters of the New Development Bank is in ‘Shanghai’.
Which of the statements given above is/are correct?

1) Only a (2) Only b

(3) Both a and b (4) None of the above

76. BT IO WTees [T erd .
3T) BT ToTieh ST STAHTAT AiSTal.

) SR HaAT IEHT FHMAT AHS 0= 450 =1 IReb IWTHE dIR gidl.

%) T SOTie 1 0TSt YUl AHAFAT = FET 907 0 FgoTsT 90T dwhrad.
Jrg 99 ST

1) 3A, 2) 9, h

3) 3, & 4) TSR Fa

Consider the following statements about Gini Coefficient.

a) Gini coefficient measures inequality in income.

b) If all have equal income, then a straight line of 45° is formed.

c¢) If Gini coefficient 1 means complete equality while Gini coefficient 0 means most
inequality.

Identify correct statements.

1)a, b (2) b, c

3) a,c 4) All of the above
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77. T WER 97 dfve IT SIYOTIETd WISIGUHT hivTd Jg JHIETS HRoard Jard?

an) arisar e
) 3rHd f9er anfor nfdw are
ENSEIE IECERER I NI RIES
T) AMTYh, JHISTH T MET TR T U HI0T.
2) T AT X L.
1) SIS T ) A, TS, 3
3) A, d, 4) 3, d, h,

Which of the following points were included in the declaration 'the future we want'?
a) Poverty eradication

b) Sustainable development and economic growth.

¢) Convention on biodiversity.

d) To achieve the target of economic, social and sustainable development.

e) To eliminate genter equality.

1) All of the above 2) a, b, d, e

3 a, b, d 4)a, b, cd

o X

78.  37) SINIdeh IUTEHR [Fe2Tieh HISUATATST 3 3 T 5 Mozl SR 9dey ST,
) TYRT TFYRTST, TTAHHATOT T IMSTG € o T I 3T
&) ST ITEAR Haze 389 Jod S 0 F 1 =T SR 3.
AT [T M.
1) IISURT Tehal ATar 2) 31 mfor &
3) 37 3MMIT & 4) § 30T &

a) 3 dimensions and 5 indicators are taken in consideration to calculate Global hunder

index.

b) This three dimensions are inadiquate food supply, child undernutrition and child mortality
c) The optimal value of Globlal hunger index lies between 0 to 1.

Identify incorrect statements.

1) None of the above (2)aand b

3) aand c 4) b and ¢
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79. STEIT I Gl WIS ST THS 9oIRT Agd HedTd.

37) dce hicdl AT

o O

) IHARIAT THUT VSN HERR]

%) TTETOTeTs IReuTeAT ST e

1) 37 Rrae @ 2) 31 37T § g
3) 3, 9, & AT 4) 9, % T

Accounts of National Income helps to understand following things.

a) Profession of Chartered Accountant

b) Performance of the overall provision of the economy.

¢) A framework for the construction of an anlytical model.

1) a correct 2) a, b correct

3) a, b, ¢ correct 4) b, ¢ correct

80. M [IhIT Geies SATEAT HII Honr?
oI SR TUTS AT TR S /T RS HT9 RS fehaol 9 qrar Sia=r=n
TSI JURT 7 AT HOT g
1) T8 TEATS 2) XS
3) &, g 4) Ja FST

Who gave the following definion of sustainable development?

'Sustainable development is development that achieves the satisfaction of human needs
forever and the improvement of the quality of human life.'

1) Bruntland Report 2) Remond

3) K. Parikh 4) Robert Alan

81. SRSl TSR WIGHIAUSI HIvIT ATSH?

1) faregsire rer T 2) TSI ST
3) TSI g AT 4) T AT

Who proposed 'Diversity Index' among following?

1) Vishwajeet Guha Committee 2) Abhijeet Banerjee
3) Avijeet Kundu Committee 4) Amartya Sen
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82. WTHIGHU I HIVTAr HAT STIM Tk FOIT I T, ST Toh I FhIReAT aqdT 373fT fAyesor
(Combination) SZTTIAT T AT ATIST ITTRT IRAST TS IcATE Teahial TYUT HTIeTHA
diYR shAl SIldl.
1) ISl I 2) 3T ST T5h
3) FHYRHTIT T5h 4) SR IH
Which of the following terms describes a curve that shows the combination of two types of
goods in which all the factors of production available at that time are used at full efficiency.
1) Satisfaction Curve 2) Production Possibility Curve
3) Equivalent Curve 4) Lawrenze Curve

83.  IANY SISl NIEEIR

SIpIC)

3N BT TR AT
) AT S AT
&) IS TTE BT AN
¥) R YRAAEN IS TS

I 9§ &

) i iv i i

2) i i iv i

3 i i i v

4) i i i iv

Match the pairs
Mission
a) National Solar Mission
b) National Water Mission
c) National mission for sustainable agriculture
d) National mission for Green India
a b C d

1) ii iv iii i
2) ii iii iv i
3) i i iii iv
4) i iii i iv

Y

i) 2014
ii) 2010
iii) 2011
iv) 2012

Year

i) 2014
ii) 2010
iii) 2011
iv) 2012
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84. TSIT THAT TGAUT JHeAT (NSSO) IRISHIRIATSST W3 Jehed T [Ahd hedT 31Ted.

3N I T ) T ATHIES R
&) IR e s ¥) W AT R
1) A, &, S 2) & 0T &

3) A, T, H 4) STRT F9

National Sample Survey Oganisation (NSSO) developed which of the following concepts
regarding unemployment?

a) Usual status b) Current Weekly Status
¢) Current daily status d) Current yearly status
1)a c d 2) b and c

3)a,b,c 4) all of the above

85. WM TRy Mo T areaur=r F9fSa s[Er Fi+r Sord 969 Fezres HDI 7
Ty dhoh?

31 AT g ENSIERIEIRUEI
%) BPL SlhawAT ©) HIAHTT

1) 31,8, 2) TIAUDT IS
3) T, T, T 4T, H, T

Which new indicators were included in Human development index by Vishwajit Guha who
expanded the boundaries of HDI?

a) Infrastructure b) Quality of life
c) BPL Population d) Assets

1)a, d, e 2) All of the above
3 a, b, d e 4) b, c, e

86. HATYT IISTHT WISIHURT SHIVTAT HIHIEAT ISR HaTod 3Te?

REECRCIE AR R 2) o= AR
3) fgra afeaET TmErE 4) TAGGEAT AT
Manodharya Yojana benifited for which of the following population group?
1) Assistonce to distresed children 2) Assistance to Divyong.
3) Assistance to Distress women 4) Assistence to Elderly's
87. HEPIS & WIoThUhl Szl Jered 3e?
1) fohwe aTdest aTe - T2t Joa awRoT 2) THAd 9T aTe - WM g 91
3) Tha UTdes! TEROT - U3 Hed g=0T 4) THAT ITdos! ORIROT - UM oF a1
Inflation relates to which of the following
1) Price level rises - Money value falls 2) Price level rises - Money value rises
3) Price level falls - mone value falls 4) Price level falls - Money level rises
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88. Wi [TUTT HeATd =.
31) 1950-51 AT AT F=Ta HRATAT Y& Wz IAeTdies fBear 53% 2.
) 1950-51 ATST IJANT AT TRATAT IS 2N ISATEATTS BT 23.6% el
%) 1950-51 TATH TST ST HRATAT WS W2 AT BT 26.4% X,
IR [T 3freaT.
1) 3, &, & g 2) 3, T I
3) Wk 3F IR 4) 9, F IT

Consider the following statements.

a) Contribution of agriculture sector to India's gross domestic product was 53.1% in the year
of 1950-51.

b) Contribution of manufacturing sector to India's gross domestic product was 23.6% in the
year of 1950-51.

c) Contribution of service sector to Indias gross domestic product was 26.4% in the year of
1950-51.

Indentify the correct statements.

Answer options :

1) Only a correct 2) b, ¢ correct

3) Only a correct 4) b, ¢ correct

89. I fayum Maer
37) PBRITTAT YHT9T (Headcount ratio) HTYET SRS S2IadT.
) T FczTie, IRt TR § FRYeT etiRee it
T I
1) 37 37O § ST TRl
2) TIAUhT I
3) heh oF
4) oth §
Identify correct statements.
a) Head count Ratio indicates relative poverty.
b) Gini index, Palma ratio indicates absolute poverty.
Answer options :
1) None of the above
2) All of the above
3) Only a
4) Only b
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90. WG AU HETd <.
37) Hitah AT X T THATAT JHATHS WRal 3RHMET 3% S300
) gdfas QAT ST S ISTAT WY fasher e g3l
T 3TN
1) 37 I 2) § g
3) T T 9 I A 4) 1T 9 <L I

Consider the following statements.

a) A monetary exchange rate indicates the rate of relative purchsing power of two currencies.
b) Real exchange rate represents the buying and selling rate of two currencies.

Answer options :

1) a correct 2) b correct

3) a and b both correct 4) a and b both incorrect

91. AT UM 3T
) TG TS AT AR WTIAT 1949 T ot F YAde 1970 T T,
) =T aifen iRl Raehd AT FS&ToT<AT Maaiar ARieT fEaar 1.
T I
1) 3T T 2) T FH
3) Thel ATel 4) TASTR T

Identify the correct statements.

a) National sample survey organisation was established in 1949 and reorganised in 1970.
b) The results of all these surveys are summarized in the annual technical manual of the
organization - Sarvekshana.

Answer options :

1) a only 2) b only

3) None of the above 4) All of the above
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92. HERTETAT AT [JhRT STEATAHTIET W5l [T STd =T,
37) HERTEM 31T YRl STEATe 2001 BT TehIiRTd hedl.
) HERTEIET 2001 FHS HDI 0.666 SaehT Bl
%) HERTR 37T IR AZATSH 2011 AT T2 HaA.
¥) AR JERIEMNET 2011 7y HDI 0.752 ST &rdl.

T T STesaT.
1) 3, & )9, T
3) A, T 4)F, S

Consider the following statements about maharashtra's Human development report.
a) First such report was published in 2001 by maharashtra.

b) In 2001 maharashtra's HDI was 0.666.

¢) Second such report was published in 2011 by maharashtra.

d) In 2011 maharashtra's HDI was 0.752.

Indentify correct statements.

Answer options :

1)ac 2) b, d

3 a,b 4)c, d

93. STHIM UROT Fefad g fTu e,
3T) SN RN S FNI JATeATd JT€ H0T B,
) TG AR AT AT YT Heed ST,

Q'qﬁ)f‘ﬁli':
1) 3T <h 2) ¥ %h
3) Wehal ATal 4) ST A

Find correct statement related with Land Reform.

a) Its aim to increse Agricultural productivity.

b) To achive social justice for farmers.

Answer options :

1) a only 2) b only

3) None of the above 4) both correct
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94. A3 Life 50 Wiola 9O [9=ERIT o,
31 21 Life, TR 2022 T ST COP 26 T HE Thod.
) BIhTH TR FIEHS e Texdi=r =R FH0.

%) ARTOT (qRI3N) T BT TEBIHT YOS STATATST SUMT (0T STSIRYSHT FAETH HR0T,
HToTSUD INg g 3.

T 3N
IR 2) A, T
3) 3, & 4) TASIDT I

Consider the following statements about Mission LIFE.

a) Mission Life was introduced at the COP 26 in Glasgow in November 2022.
b) Promotion of environmental-friendly daily practices among people.

¢) Enable industries and markets to respond to the shift in demand (supply).
Identify correct statements.

Answers options :

1) b, c 2) a, b

3)a,c 4) All of the above

95. o7 ETHIRROT 3UTT WSIHUhT VT JT2TET TBITadl?
1) 929 F a7 a7 ran snfies Hag ard=g e v e,
2) RreToT 9 R famn e s & ATen
3) I 9 T a7 Sraiear 7 A<t [aRom=l S HEar e i el
4) T s 9 IThiT AT hamsiedsr Jg9rlt 813 3TehdTd 6l ATel.

Gender empowerment measure shows which of the following characterstics?

1) Whether both men and women have economic freedom of choice or not.
2) Whether education is free to all women or not.
3) Whether there is equality of distribution of wealth between both men and women or not.

4) Whether women can actively participate in the economic and political spheres or not.

96. XA AN AT TG (W3 = HROUMY UTges TS hioT?
1) HERTY 2) AHBATG

3) S 4) qHTOT

Which is the first state to launch its dedicated climate change mission?
1) Maharashtra 2) Tamilnadu

3) Kerala 4) Telangana
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97. I [FU™/A 3.

o

3T) gATERei FEPRT Fsi® JAaee 2T THgRHe T (UNEP) &RT UehITEId 6ol
ST,

) B Fe2Meh TUH 2020 BT TSI FHROATT AT,

) 2020 AT JEATSIAR FRATT ShHTh 168 AT BT,

T 39X
1) %th 6 2) T, &
3) 3, T 4) STRT F9

Indentify correct statement/s.

a) Envirnmental performance index is published by united nations environment programme.
b) This index was first published in 2020.

¢) By the report of 2020, India's rank was 168th.

Answer options :

1) Only c 2) b and c

3) aand b 4) All of the above

98. 3N T HMHTTSTh 2T ShioTd?

31 RRreor ¥) J9heh I

) ST ?) WG BT IS TS
BEE]

T I

) A, T, F 3 2) ISR I

3) 3, h, S 4) A, h, S, 3

What are the social indicators of economic development?

a) Education b) Individual income

c) Cleanliness d) Growth in Gross national income.
e) Food

Answer options :

1) a, b, c, e 2) All of the above

3 a,ce 4)a, cd e
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99. WTHIAUHT HIvTd T HYwh ITHETET IITERIT TESAEUS HIRTET diehe (UNFCCC) e
& IR ATS?
) W Frowe &e

) 3T game 95 M

) IF AT

T 3N

1) %h 3T 2) %t &
3) TSR I 4) Bth &

Which of the following funds is/are started under united nations framework climate change
convention?

a) Green Climate Fund

b) Special Climate Change Fund

c) Adaptation Fund

Answer options :

1) Only a 2) Only b

3) All of the above 4) Only c

100. AFY AT Teararaadid AThedRl HIvT M HId?

a1 faferer <=1 ) Her

F) AR ¥) gAMCS 3T Urgoee fefes
3) I Ik

TR I

)&, S, 3 2) TIAUDT I

3) 3,9, h, S 4)h, S

Who collects the information regarding Human development index?

a) Various countries b) Institutes

c¢) UNESCO d) United Nations Population Division

e) World Bank

Answer options :

1)c, d, e 2) All of the above
3)a, b,cd 4) ¢ d
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